R I THE /PN AR ERERLREK No.1

O FR26FEEFHIER R @ FTR26F71AKER s
@m Py = % (R FRE#48,080mM) (REFREF48,649mM) ?éﬁfgﬁ’)j B o=
E N | 1EZEE | BEHM | E O | (EEE | BiEs
TEHE(1,24F) 6 70 420 6 75 450 30
LEHE(28EFHE) 2 70 140 2 75 150 10
EEHE LEHE(3~65) 12 70 840 12 64 768 -72
EEHEQC~ETHE) 4 70 280 4 64 256 -24
INET 1,680 1,624 -56
BEE(EREED) 1 105 105 1 155 155 50
HIZE(ERFEESD) 1 95 95 1 130 130 35
REME(EFRESD) 1 70 70 1 140 140 70
- HEZE1(ERFEEED) 1 95 95 1 115 115 20
HRlE=E — — —
IR =2 1 110 110 — — — -110|- BAA TS5 REEMER
HE=E 1 110 110 1 270 270 160
aAVEa1—4F 1 70 70 1 110 110 40
INET 655 920 265
F—T U AR—ZX 6 80 480 6 80 480 0
% BHIRAR—Z (2F. 3F) - - — 1 45 45 45
N MOEE — — — 1 15 15 15
wAENE REaE — - — 1 20 20 20
ZEM=E 2 70 140 1 70 70 -70
INET 620 630 10
BREEFRICEE 1 35 35 1 40 40 5
BB = (B5-0R- Bk -REEED) 1 155 155 1 138 138 -17
REE 1 35 35 1 45 45 10
LiEEnES 1 35 35 1 15 15 -20
B EREKE 2 20 40 1 15 15 -25|-Ovh—IZ&KYRE
Rg= 1 75 75 1 65 65 -10
EHEAREM |[RERE 1 170 170 1 330 330 160
EoRE= (2,30) — - — 2 20 40 40
BME — — — 2 15 30 30
BErL 1 20 20 1 20 20 0
PTAZE — — — 1 10 10 10
HAKRT — - — 1 10 10 10
INET 565 758 193
SUFIL—L 1 95 95 — — — -95|- 2 HHMEZEH
BB E 1 50 50 1 40 40 -10
H AL L. ZBHL 7 - 215 7 — 215 0] 35mi x 6 FT+5m x 1&FT
Ay —k — — — 1 40 40 40
INET 360 295 -65
BB th(BR T FEER . TLA—45%) 1,450 1,419 -31
haf 5.330| 5,646| 316




RFFR) I THE /PN AR SRERLREK No.2

O FR26FEEFEHIER R @ TR26ETARER s
5 B ® M = £ (R FREH48,080mM) (REEREH48,649rm) ?éﬁ_%’)jz =
E ¥ | 1ZEE | @S | E O | E@iE | miEs

T)—F 1 890 890 1 715 715 -175|- BERR—REL

AT— 1 75 75 1 100 100 25
. o . a =EE 1 105 105 1 20 20 -85 AT —C TFUNM~NE R

ERERR ERERS kL 1 55 55 1 20 20 -35
BT 1 114 114 1 55 55 -59
INET 1,239 910 -329

BRAT—I 1 575 575 1 580 580 5|- 7— Ly arED
TRE(BEK-VvT—-rL) 1 45 45 1 60 60 15
. . BB (B T P ER ) 1 90 920 1 25 25 -65
Kik7—IL(IERA) J—IL e A — — — 1 P 0 P
EAES — — — 1 40 40 40
INET 710 717 7
W = 1 150 150 1 165 165 15
REVZT BEE - - - 1 7 7 7
BE - - - 1 20 20 20
AE L = 1 - 245 1 215 215 -30
I REfE E - - - 1 35 35 35
REVZT AE - - - 1 20 20 20

EHBE. BANRE — — — 1 34 34 34|-#mLa—F—2T
A& k1L — — — 1 20 20 20
BT (FRI—F—81) — — — 1 33 33 33
INET 395 549 154
B%-BERAR—X 1 - 280 1 445 445 165
FAREE - - - 1 28 28 28
EBE - - - 1 40 40 40
HEESEE HELESEE BE. KE=E - - - 1 17 17 17

L. ZBMINL - - - 2 — 40 40| 34m x 1EFTF+6m x 17T
FEER-ER T % - - - 1 60 60 60
INET 280 630 350
EBE 1 25 25 1 12 12 -13
1+ R 1+ R MRV -BER-BTE 1 101 101 1 150 150 49
(MRZ92Y) (MRZV2Y) ML -BRE-RAE — - — 1 35 35 35
INET 126 197] 71
&t 8,080 8,649 569
P P 31 R TR LL B

105 FREE 4,160 4,480 320
IEREE 20 RmEiE 3,060 3,138 78
& AKRmiE 860 1,031 171
a8 it 8,080 8,649 569

(B m)




